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" J1 J2 R18 R15 R6
2sk369  2sk369 out
V5 200 2.4K 47k
R9 R1 INa
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SINE(0 1.6m 1K) 47K E1
AC1 R20 ¥ R19
c2 47K - 47k
o R14
X 47u 10K
Q252240 E J5
J25j103
.ac oct 1000 50 20000
.0p J2sk170 77(:4 D2 C6 30
fourier 1K V(OUT) 7747 \/ %
;tran 0 20m 10m 100n QTLP690C " TotlPesoc 22m
MEAS AC BW when V(OUT)=1/sqrt(2) V2

MEAS RMS_Output_Power PARAM RMS_Output_Current*RMS_Output_Voltage ~ 0-point
.MEAS TRAN RMS_Output_Voltage RMS V(OUT)
.MEAS TRAN RMS_Output_Current RMS I(R_LOAD)

laplace ((75e-6*s+1)*(3.183e-3*s+1))/((3.183e-4*s+1)*(3.183e-6*s+1))
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